L (3x—dy=3)+ (x—2y - 3)& o] odl?

© 2x-3y+6 @ 2x-2y+4 ® dx—4y—6

@ 4x-6y-6 ® 4x-6y+6



3y(—2x + 5y) & 2+ Y

© -2xy - 15y @ —2xy -7y ® 6xy — 15y

@ —6xy + 152 ® 6xy + 5y2



(5x = 2y)? = AMSHH ax® 4 bxy + ¢y? OIt}. o), &5 a, b, ¢ 9
a+b+c o 32

@D -2 @ 2 3 5 @ 9 3 13
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a b

® 3b @ 8a+3b ® 8a+9b

@ 9b B 8b-9b
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@D 3a2b ®? 3ab? 3 3a2b2 @ 43b B ab?
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A=2x—y, B=-x+2y ¥ uj, 24 - 3B & AAlgt 2129

D x+4y @ x-8y ® Tx+ 4y

@ 7x-8y ® Tx+2
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11. (4a%b — 8ab + 2b) + (—-2b) + (a®x — ax) + 3% =L
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DO a?+a-1 @ a?-a+1 @ a*-a-1

@ a?2+a-3 ® a2+a+1



12. a=x+2y, b=3x-y QW 4a-3b 5 x, y o] T3t 202 LJeHY
H?

@ —5x+ 5y @ —5x+9y ® —5x+ 11y

@ -5x+ 3y ® -bx+y



13.

x=ala-6)¥d

LHER Y

® x*-36

@ x>+ x-36

9, (a+1)(a—-2)(a—-4)(a-T7)= x|

@ x2-6

® x2+x-56

@ x*+x
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ohe A9 e FABAS BEste] Fakelw dek (
ofgho 19
2 X T

) el

(4+2)(42+22) (44+24) (48+28) (416+216) (432+232)+263
=920)

D 126 ® 127 3 128 @ 129 ® 130
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